N = 0l & AF & F Al A

SN ASF
HE: S0iE MEI|Y SE(SYHLLLM/5Y - 58)
ool SE MEHY X4 (=CRE
SA BB H(BH) - MBAY - B2 Ofl &+ 04 glggfg HRs2
A=z 70,112,185 63,409,600 6,702,585
= 19,800,000
3 38,227,000
= 12,085, 185

SOIE MBI HE(SYHSLL/SY - 55) 24,840,390 28,985,555 ~4,145,165
3 24,830,000
= 10,390

SE MEHY XA 24,840,390 28,985,555 A4,145,165
3 24,830,000
= 10,390

SEMBEHATY (HOR) 8,612,000 9,666,000 A1,054,000
3 8,612,000

403 Xt SHAIS XH= 0/ 8,612,000 9,666,000 ~1,054,000
3 8,612,000

01 MK =L S 8,612,000 9,666,000 ~1,054,000
OSHMEXS SEMSEHATY| 8,612,000
3 8,612,000

SEMEBHATY (SAER) 13,001,000 15,960,000 A2,959,000
3 13,001,000

403 RXISH SR 20 13,001,000 15,960,000 A2,959,000
3 13,001,000

01 XISHT2LE 13,001,000 15,960,000 A2,959,000
OYBS L ETY SEMS AT 13,001,000
3 13,001,000

HANS T A (o) 2,212,000 2,169,000 43,000
3 2,212,000

403 X+XIGHAIS XH2 0/ 2,212,000 2,169,000 43,000
3 2,212,000

01 RXISHK2SE 2,212,000 2,169,000 43,000
OSHMEXS HANSEH 2,212,000
3 2,212,000

HRAVSEH(SAESR) 1,005,000 1,182,000 AA77,000
3 1,005,000

403 XHXISHAIS XH2 0 1,005,000 1,182,000 AA77,000
3 1,005,000

01 MXISHX =S 1,005,000 1,182,000 AA77,000
OYBHSANERS MAADISEH 1,005,000
3 1,005,000

SEXY N 10,390 8,555 1,835

202 01t 10,390 8,555 1,835

01 =2U0ibl 10,390 8,555 1,835
OBFMEEY T4 T 6,234
OALIGE SATHS =& 4,156




SN AEFD
Ha: SO EENS XS (M= /F)
Sl S0E FeONy (e
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
S EES ENE TN VESS) 6,300,000 5,400,000 900,000
SolE Fei 6,300,000 5,400,000 900,000
SoE FeiY 6,300,000 5,400,000 900,000
501 X2 6,300,000 5,400,000 900,000
02 S22 6,300,000 5,400,000 900,000
OSHEFUNLEXD 6,300,000
FANSAWE L NAWL(FELTSNL/NSLEAI) 38,940,210 28,997,785 9,942,425
= 19,800,000
3 13,397,000
= 5,743,210
EHMEEH N 5,137,777 7,879,612 A2,741,835
3 4,647,000
& 490,777
ZNSPNL (SAESR 1,749,000 2,866,500 A1, 117,500
3 1,749,000
403 RIXISHH SR 201 1,749,000 2,866,500 A1, 117,500
3 1,749,000
01 RXSHAZBE 1,749,000 2,866,500 A1, 117,500
OUBHS A ERIS F=HEL N A 1,749,000
Z 1,749,000
EHEANA (ZER) 2,898,000 4,450,000 A1,552,000
3 2,898,000
403 RHXISHHSRH20IH 2,898,000 4,450,000 A1,552,000
= 2,898,000
01 RXISHHRH2 25 2,898,000 4,450,000 A1,552,000
OZANEAZHRY =HBLMS 2,898,000
= 2,898,000
OISCHR2HE It D) 300,000 225,000 75,000
403 RHXISHHSX20|H 300,000 225,000 75,000
01 MXSHMAZDE 300,000 225,000 75,000
OOISCHR2HE JFRI| AR 300,000
AL 2RSS 150,000 120,000 30,000
403 XHXIGHH SR 201 150,000 120,000 30,000
01 MXSAX=SE 150,000 120,000 30,000
OALIOILR AT &4 150,000
ZHMEEY N 40,777 54,112 £13,335
201 Yer2g| 20,000 37,000 A17,000
01 Attt 20,000 37,000 £17,000
CEERELTETICE 10,400
OBEFUIBAMEIN =X 6,000




SN AEFED
HE: EHSEWS L NSHL(FELNSNL/NLL A

ol ZOIM SR (649l &2
_ _ - NEc
SN EHH . H(EH) - NEAY - BES Of] &k o il ot o Hmz2

oszne nel 29 =3 3,600

202 O4Hl 20,777 17,112 3,665

01 =W 20,777 17,112 3,665
CEEEES 6,233
OF YR XX 8,311
OCIXtI LS AIMER 6,233

NSHED|IBAE &2F 33,802,433 21,118,173 12,684,260
= 19,800,000
= 8,750,000
= 5,252,433

ACESSH(HR) 4,050,000 1,900,000 2,150,000
& 3,350,000
& 700,000

403 RXSHSKH=0IH 4,050,000 1,900,000 2,150,000
= 3,350,000
= 700,000

01 XM= E X 4,050,000 1,900,000 2,150,000
OE=aEiY 2554 4,050,000
= 3,350,000
= 700,000

L2EESH(SAHER) 7,300,000 3,200,000 4,100,000
= 5,400,000
= 1,900,000

403 RXSHSKH=0IH 7,300,000 3,200,000 4,100,000
= 5,400,000
= 1,900,000

01 XM= E = 7,300,000 3,200,000 4,100,000
OUBSMNENY ATSTA 7,300,000
= 5,400,000
= 1,900,000

Fe0ZSHRAEFEHIYS SEMNL(=2) 19,800,000 10,100,000 9,700,000
= 19,800,000

403 X HMSAH=01H 19,800,000 10,100,000 9,700,000
= 19,800,000

01 AXSHMA2E = 19,800,000 10,100,000 9,700,000
OFHUZZHAAFTHNY S HY 19,800,000
= 19,800,000

RN L AL Xl 2,652,433 5,918,173 13,265,740

201 Let2d| 1,200 2,040 N840

01 AtE22/Hl 1,200 2,040 A B840
OLES MFAA +F 1,200

202 O4Hl 6,233 5,133 1,100

01 =Wl 6,233 5,133 1,100




SN AZF
Ha: EHBANS L KA
CHOl: XIS ED| BHAI A

=] | OH dEE ot
- Of Ak R =
Ny sordd 3,400
HESEHE 2= 2,833
X SHHS K20 M 2,645,000 5,911,000 A3,266,000
NXSHHMA 28X 2,645,000 5,911,000 A3,266,000
o ZAHaz &ZE 100,000
O=20 Az F=H 100,000
O=CIotIE =¥ = 100,000
OALALE =0 =3AAMZ 1,000,000
o0ts=Zd El 1,345,000
HY2IGU(ASFH) (OIEH/DIE 31,585 26,260 5,325
Jl23&dl 31,585 26,260 5,325
2FA2E Il 31,585 26,260 5,325
2otz 23,425 19,540 3,885
23,425 19,540 3,885
23,425
8,160 6,720 1,440
8,160 6,720 1,440

8,160




